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1. %2 24 APOIOI =L

2. FeCl; 1.5 mgE E2f230| €12 S7F+E M2 = NaOHE H7I5H0 pH 10¢!
100 Lo 8HS HZXsIoi) 22 2 (Es=g8dr)l &N-85f BAZ 7t
oty Ch2 20| B, CH22l BHES XS, 2 & 25°CE 7HE5HA
Q.

Fe(OH); (s) = Fe** + 30H, pK; = 3857

1) 83E Fe** 0|29 E8% (MM HHRE TR ()

2) e Fe(OH):o| BE (mg TS TotA2. 57)

3. 0.15 g9| OFMEAILIEE(CH;COONa)g E2tA30 €10 &
100 Lo BHZS X1|¢o+ ALt O] %O"OI pH7r 525 [[H £ 1
(CHgCOO acetate)l'f OFM| EAHCH;COOH, acetic acid)?| s=& %%EE :rLOP
AQEH 22 & 25°C). (15%)
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: 2 4HHypochlorous acid; HOCI)O| XtQIMd ZALE S310 2ofiz= EHS2 2
ASty CH2ol AtE UL

= C A

Al (day) == (mg/L)
0 10.00
1 7.85
2 5.94
4 4.07
8

1

2.23

XtEtEo 2 7h-Estn 1XHHRS A= (first-order reaction constant) k&

(Hint: O{ BLS=E A0 CHSH 1XERS Al r = d[Al/dt = -kK[A]2 S50 A
In{[Al/[Alo} = -kt ([Alp = X7|&8k)2 €= = 9'251 HekA In A]% y-?-?- tE x&H
O= St deiZo| 2 HAMEZ #10 O 7|27|% & FIE2ZM 1XEHE &=

kE __I.Lol- 2 OIO

5. % AlE% XH$|'6HA—| Iﬂ% EHEO" %I-ol' I:H7| 7<Ol COz Pcoz = 103 atm 9|' rg@
2 O|REE 5t & pHE SHIR/AGL| 7.500] LIRCH F2EH (S5c=24)
742 AHESHY 25°C ZZ10| A Efo =0 E*OMIQ

1) BHYENO|A O] A|EQ| H,COs* HCO5, CO*2l =& mM HHRE FotAIL.
)
2) HYENOIM O] Almo| LZ2|= (alkalinity)E mg/L as CaCO; EhRI2 F5HA|
2))

0|'_L

3) EH"*OI AZE B0 M35 M2 HCE 571 1.0 mg/L7t &
S TA| Y=t of ), A=) pHE 01|§6M|2. Ol 3&/
mg/L— =02l 8AU9| pHet HII'LOMISZ (10%)

o ot

o]
Cl 1.0

_\JH-

A &
=0l HCl

(Hint: HCI2 ZAH0|2 2 HII6t HCIO| 25 H*E WM, O] H*Q| Mol B %7t
HCO; @t ZA%SI0 H,COs*E MMt JPH3HA|IR)

6. MK ol 4 TEXZE ™ (macromolecules) dl 7}X|& &A1, 2tzto] S8 7t
CHS| =SHAI2. (108)
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HA| #1

HEY: 9/28 +=YUAIZ
* P oy JEY APlES A A o2, ABEEK I3 9 § 3o
A48 6% AYstas NP3 < AYddd. 239 FL FA4 9
A9 o 5< A, BEA 20 3P B3] v H. 330 F @
xYo] 2oj M2 1Y gl FI A2 345 ARS A5 A2
FAT 04, VI39F A5 BA#10) Aol 349 HAP5 80%F
F 3 7.
1. 22 2d Aojo] S| 2tZ&H F2 MA T 145 HOF MUEIIME 2T (2

HA ZIAE £8)otn WES F 2 Y2 UET 293t 2. (157)

2. FeCl; 1.5 mgE Z2t230| 41 ZF+E M2 = NaOHE H7I510| pH 109!
1.00 Lo| 8MS M=OIRULE F2 N (2s=-2dr)it HH-83 BHS 7t
Moo CH2 EZ0| BSIAR. CH2o| B2 S AXst1, L& 25°CE 7HHS}HA|
2.

Fe(OH); (s) = Fe** + 30H, pK; = 38,57

1) BolEl Fe* 0|20 E5& (mM E)E TP (5E)

=)
1073857 = [Fe3+][OH_]3
[OH ]=10"* M

[Fe37] =2.60x10 2" M=2.69x10"** mM

2) E@H™E Fe(OH)2 EE (mg TS AL, (5E)

)

40| IX}ZF - Fe : 5585, Cl : 3545, 0 : 16, H : 1

FeCl; 1.5 mg = 1.5mg/{55.85+3x35.45} mg/mmole = 9.25 < 10" * mmole

M7t FeCli0ll HISH &3HE Fe'*= FAIZ T SIEE, ML Fee 25 Fe(OH):2| ¥
B2 EXsictn 7P = UAS.

kA, ™ E Fe(OH):2l & == = 9.25 x 107 mmole

9.25 10" mmole < {55.85+3x(16+1)} mg/mmole = 0.988 mg

N

3) Fe(OH);E
oF B P80 A& JEottt®, pHE Z0p O[5tz
SF0{0F "HIIS Fe(OHiE EF E3AIZI= A0 7Hs2t7t? (108)
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107397 = [R3T)[OH ] = (9.25x 107 % M)< [OH
([OH ] =6.63x10 "> M/
K =[HoH =101

[H]=151x10 %M

pH=—1og[H'] =2.82

QHtyo 2 FFH9| = pHIt ¥
I

£0| 2In 8 W=HOo| 2 7ts80

3. 0.15 g9 OfMEAILIEE(CH;COONa)s S2tA30| @1 5
1.00 Lo| 8AUZ M| =SILCt O] 8H| pHZt 5.25¢ M, & i E
(CH3COO", acetate)dt OfM|EAHCH;COOH, acetic acid)?| s=& =52 75}
AREH 2E& 25°0). (157)

F

~

* n

&1 o] 2X0) Cjefof gt gHYo] HESH fE AN OIELMIEES STFE+Y =0/
b pHZf 5.257F LIR& 20| ofLlef G2/ pHE LA &Lk 20 F7F LA
R LOHFE ZAZ 0/§310] 2XE F£ L& XE0] &2 HezE H2gL/r) YH=2
= O ELHCH;COOH) 1.83x10° ME SF+0 =0/ pH7} 525 H& L2 ZL/

cf.
2t Ao AXZF - C:12,H:1,0:16, Na: 23
N 0.15¢ B
A7} ¥l CH; COONa BXIET3x11ax16733) 18810 mole

CH,COONa= CH,COO~ 8} Na'2 dfelgl=tl, CH,CO00 = %¥Xx} H'
CH,COOH7} 9},

wheta] ofM|E4to]l = BRgAlR thgat

CH,COOOH= CH,COO™ + H"

pK, of CH,COOH : 4.75

il
ne.
2
o)

L lCcO0T (]
K =10 ""= (1)
a | CH,COOH)|
1.83 10 *mole©] CH,COONa°] 1.00L9] Zof H7}5]9l7] uj 2o
|CH,COO™| + [CH,COOH] = 1.83 <10 *M (2)

pH=5.25017] wjgol|, [H]=10""*M

(DAl (A1) tHgst,

[CH,COO™] = 3.16| CH, COOH] (3)
(B)A= (2)Alof tiYstH,

|CH,COOH] = 4.40 x 10~ M
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[CH,COO™] =1.39 <10 *M

. 2 4t(Hypochlorous acid; HOCI)O| XM ZTALE &5t 2dlkl= s
A5t Chgo| ALE ARALCH

mjo
e

Azt (day) &% (mg/L)
0 10.00
1 7.85
2 5.94
4

8

1

4.07
2.23
2 0.93

S22 X8O 2 TSt 1X}EHS A== (first-order reaction constant) k&
1

(Hint: O] Hr3=& A0 CH2F 1XHERS A r = d[Al/dt = -k[A]2 &I A
In{[Al/[Alo} = -kt ([Alp = X7|sE)2 = += A0, ML2LA In[A % y‘f‘ tE xH
OS2 St daizZe| I HAMZ #1 O 7|27|%f k& *l%‘giw 1XHEHS A=
& 7% + 98)

Eh

? XMHEE t-InChoa BHO| Z=A|SHO(Choc: HOCI2| mg/L Bt &) 2|FHEMZ

t-
Ct=ak 20| @& =+ ACH

‘, y =-0.1904x + 2.2364

‘e
‘e
.

CHOCl

te
.
.
‘e
.

o
(8}
'S
(=
0
—_
<
.
o
e
—
'S

-0.5 *

Time (day)

ek, XS &= k= 0.190 day-1.

2) Of gIS0A urFatol HHE7[E FolA 2. (58)

=)

In 2 0.693
t, 5 = = = 3.65 days
12 k 0.190 day ™ * Y




3)

% Alﬂ% XH-’H'&'HA‘l Iﬂ% EHEO" %I' |' I:H7| 7<Ol COz Pcoz = 103 atm 9|' J_g_éc_i
2 O|REE 5t & pHE SHSIR/AGL| 7.500] LI F2EH (S5c=24)
788 AHESHY 25°C ZA0M ChE S0 E.*3MI2.

HYME O A O] A|RQ| H,COs*, HCO;5, CO5* 2l SsE& mM EHQIE 1AL,
(1078)

=)

[H,CO*) = K,Pppy =107 Y M/ atm <107 > atm =10""" M=1.00x10"* mM
log[HCO; | =log(K ;P rey) — PK,, +pH=—5.00—6.35+7.50 =— 3.85
[HCO;1=1.41x10"* M=1.41x10" ' mM

log[CO} 1 =log(K,Pppy) — pK,, — pK,, + 2pH=—"5.00—6.35 — 10.33 4 2 X 7.50 =— 6.68
[CO; 7] =2.09x10"" M=2.09x10" " mM

HYYENOIA O] A|ZO| ¥Z2|E (alkalinity)E mg/L as CaCO; EHRIZ FBHA|
2. (5%)

)

[H1=10""" M=3.16<10"" mM, [OH ] =10 %" M=3.16 10" * mMO|EZ
[HCO3-] O|2le| CtE EHE2 YZelko 2 &2 OX|X| S,
Alkx[HCOg_]=1.41><1()_ meq="7.05mg/L as CaCO,

it

on+0| AZE Hoj| 2tF3| 21D HCIE SE7F 1.0 mg/L7t EA €0 =9 ot
Al DB O| m, ANZ29| pHE 01|§6M|2. O|& Z&=0| HCl 1.0
mg/L— =0l %O#OI pHe} H| WA, (10F)

(Hint: HCI2 Z4to|B2 =2 FItok HCIO| 25 H'E LD, O] H'e| He| BR&7t
HCOs 2t ZEoHY H,COx*E SRt 7P‘*0M|2-)

)
Zb Y0 AXE - Cl: 3545 H @ 1

HCl 3.0 mg/L = 2.74 x 102 mM

kA, HCO5QF HCIS| H*7t 25 ZATtstH,

[HCO;]) = 1.41 10" ' mM—0.27x10" ' mM=1.14<10" ' mM

[H,CO*] =1.00 X 10 > mM+2.74 X 10" > mM=3.74 X 10" > mM
CHS EHAFO| 1k} B 2| Ab4=0f Al:

L rmco]]
"m0
Lo - (1.14x107* M)
3.74x10"° M

[H]=147x10 "M
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pH=6.83
cf)
LAl HCI 3.0 mg/LE BF0 =2 842 pHE

pH=—10g(2.74 10" %)= 4.56

6. MK ol L4 TEXEE(macromolecules) dl 7FX|E M, 2tzto] S48 7t
TS| =3lA|2. (107)

£h

Et

O

+3}=(Carbohydrates): O|L4X|& (energy for life)
o A (Nucleic acids): DNAQF RNA — 8 HEO| M 8 MEF (store and transmit
enetic information)

@

£ T proteins): MBS B8l Hof K82 S ME J1500 Ho|, YEHo)

Td-d & (regulate cellular functions by catalyzing biochemical reactions and
support structure of organisms)

X & (Lipids): X M, MZS Ao, ALz HEO AHE (store energy (fats),
make up cell membranes (phosphollplds) and used for signaling (steroids))



